
 
S.2436 If 𝒂, 𝒃, 𝒄 > 𝟎 and 𝒂 + 𝒃 + 𝒄 = 𝟑 then find: 

𝐦𝐚𝐱 {
𝒂

𝒂 + 𝟐
+

𝒃

𝒃 + 𝟐
+

𝒄

𝒄 + 𝟐
}. 

Proposed by Sidi Abdallah Lemrabott – Mauritania 

Solutions by Titu Zvonaru-Romania 

   Solution 1. We have  

𝒂

𝒂 + 𝟐
+

𝒃

𝒃 + 𝟐
+

𝒄

𝒄 + 𝟐
− 𝟏 = 

=
𝟑𝒂

𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄
−
𝟏

𝟑
+

𝟑𝒃

𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄
−
𝟏

𝟑
+

𝟑𝒄

𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄
−
𝟏

𝟑
= 

 

=
𝟐(𝒂 − 𝒃) + 𝟐(𝒂 − 𝒄)

𝟑(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)
+
𝟐(𝒃 − 𝒄) + 𝟐(𝒃 − 𝒂)

𝟑(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄)
+
𝟐(𝒄 − 𝒂) + 𝟐(𝒄 − 𝒃)

𝟑(𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄)
= 

 

=
𝟐(𝒂− 𝒃)

𝟑(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)
−

𝟐(𝒂 − 𝒃)

𝟑(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄)
+

𝟐(𝒃 − 𝒄)

𝟑(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄)
−

𝟐(𝒃 − 𝒄)

𝟑(𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄)

+
𝟐(𝒄 − 𝒂)

𝟑(𝟐𝒂+ 𝟐𝒃 + 𝟓𝒄)
−

𝟐(𝒄 − 𝒂)

𝟑(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)
= 

 

=
𝟐(𝒂 − 𝒃)(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄 − 𝟓𝒂 − 𝟐𝒃 − 𝟐𝒄)

𝟑(𝟓𝒂+ 𝟐𝒃 + 𝟐𝒄)(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒂)
+
𝟐(𝒃 − 𝒄)(𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄 − 𝟐𝒂 − 𝟓𝒃 − 𝟐𝒄)

𝟑(𝟐𝒂+ 𝟓𝒃 + 𝟐𝒄)(𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄)

+
𝟐(𝒄 − 𝒂)(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄 − 𝟓𝒂 − 𝟐𝒃 − 𝟐𝒄)

𝟑(𝟐𝒂+ 𝟐𝒄 + 𝟓𝒄)(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)
= 

= −
𝟐(𝒂 − 𝒃)𝟐

(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒂)
−

𝟐(𝒃 − 𝒄)𝟐

(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄)(𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄)

−
𝟐(𝒄 − 𝒂)𝟐

(𝟐𝒂 + 𝟐𝒄 + 𝟓𝒄)(𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄)
≤ 𝟎. 

   It results that  

𝐦𝐚𝐱 {
𝒂

𝒂 + 𝟐
+

𝒃

𝒃 + 𝟐
+

𝒄

𝒄 + 𝟐
} = 𝟏, 

obtained for 𝒂 = 𝒃 = 𝒄 = 𝟏. 



 
   Solution 2. We will prove that  

𝒂

𝒂 + 𝟐
+

𝒃

𝒃 + 𝟐
+

𝒄

𝒄 + 𝟐
≤ 𝟏 ⟺

𝒂

𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄
+

𝒃

𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄
+

𝒄

𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄
≤
𝟏

𝟑
 

⟺
𝟏

𝟓
−

𝒂

𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄
+
𝟏

𝟓
−

𝟑𝒃

𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄
+
𝟏

𝟓
−

𝟑𝒄

𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄
≥
𝟑

𝟓
−
𝟏

𝟑
 

⟺
𝒃+ 𝒄

𝟓𝒂 + 𝟐𝒃 + 𝟐𝒄
+

𝒄 + 𝒂

𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄
+

𝒂 + 𝒃

𝟐𝒂 + 𝟐𝒃 + 𝟓𝒄
≥
𝟐

𝟑
. 

   Applying Bergström inequality we obtain 

𝒃 + 𝒄

𝟓𝒂 + 𝟐𝒃+ 𝟐𝒄
+

𝒄 + 𝒂

𝟐𝒂+ 𝟓𝒃+ 𝟐𝒄
+

𝒂+ 𝒃

𝟐𝒂 + 𝟐𝒃+ 𝟓𝒄
= 

=
(𝒃+ 𝒄)𝟐

(𝒃 + 𝒄)(𝟓𝒂 + 𝟐𝒃+ 𝟐𝒄)
+

(𝒄 + 𝒂)𝟐

(𝒄 + 𝒂)(𝟐𝒂 + 𝟓𝒃 + 𝟐𝒄)
+

(𝒂 + 𝒃)𝟐

(𝒂 + 𝒃)(𝟐𝒂 + 𝟐𝒃+ 𝟓𝒄)
≥ 

≥
𝟒(𝒂 + 𝒃 + 𝒄)𝟐

𝟒(𝒂𝟐 + 𝒃𝟐 + 𝒄𝟐) + 𝟏𝟒(𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂)
. 

   It remains to prove that 

𝟔(𝒂 + 𝒃 + 𝒄)𝟐 ≥ 𝟒(𝒂𝟐 + 𝒃𝟐 + 𝒄𝟐) + 𝟏𝟒(𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂) ⟺ 

𝒂𝟐 + 𝒃𝟐 + 𝒄𝟐 ≥ 𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂. 

 

 

 

 


